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1. Which of the following pairs is

correctly matched?

Nobel Prize Winner  Area of
(2022) Prize
[A] Svante Padbo — Physics
[B] Alain Aspect — Chemistry
[C] Morten Meldal — Economic
. Sciences
[D] Annie Ernaux — Literature

2.

In which of the following cities was
the Global Buddhist Summit held
on 20th April, 2023?

[A] Delhi

[B] Kathmandu %%%

[C] Kuala Lumpur

[D] Jakarta _
www.jharkhandg

3. Which of the following countries

has awarded the highest civilian
award ‘The Grand Order of the
Chain of Yellow Star’ to theq
President of India during her visit

in 2023? >
. ¥ O
[A] Egypt ' O

[B] Malaysia
[C] Indonesia

[D] Surinam

..4. Who is the author of the book The

Coaliﬁon IYe_ars? .

. [A] Shashi.Tharoor .

3-B -

[B] Pranab Mukﬁérjee ‘
[C] Ravi Mathur ‘
[D] M. M. Singh

1. freffaa 7o § @ w-a wg gHed

yan.com

27 |
et QUERR TR TR
(2022) gt
[A] S@Td wTE —  ofifqes fosm
(B] W @R — e fae
[C] T Begdt  — I fomm
D] Gt wifem  — HIfed
. P 19 foew wet d 20 304, 2023 i
AR At stg fien awer g
B3 A1?
JA] Teeeft
(B] FTaHTg,
[C] AT T
[D] Shrl
3. fr=fafga @ @ form g & g, 20234
WA Tsgufd sl 39 <91 <h1 AT o SN
T8 I AR GE g g 317 A%

T T A% Il W g e mn
1

[A] Tax

[B] weifymm
«[C] st
[D] g™

. The Coalition Years 3&ih % TEH BH

27 ‘
[A] WIRT U=

- [B] Ui Haslt

(GRERI

[D] To Wo &7
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With reference to the North
Atlantic Treaty Organization
(NATO), which of the following
statements is/are correct?

[. It has 42 member nations.
II. Its Headquarters is located at
Brussels.

Select the correct answer from the
options given below :
[A] Only I
[B] Only II

[C] Both I and II

[D] Neither I nor II [£]3 5]

Wl

i
With reference to G20 (Group of 20),
which of the following statements

is/are correct?

I. India took over the G20
presidency from Australia on
1st December, 2022.

II. The first G20 Summit was held
in Washington in 2008. -

Select the correct answer usirg
the options given below : “

[A] Only I E]
[B] Only II O
[C] Both I and II

[D] Neither I nor II

Which of the following Articles of
the Constitution of India talks
about the Uniform Civil Code (UCC)?

[A] Article 43
[B] Article 44
[C] Article 45
[D] Article 46

In 2023, which US State recently
declared holiday in public schools
on the festival of Diwali?

[A] Los Angeles
[B] Boston
[C] Jersey
[D] New York '

www.jharkhandgydn.com

5. IH Iewifed w1 e (NATO) &
weo H, ffafad woet § & s-T1/4
wE 2/27

I. 39 9734 T 42 U 9 |
1. 35 o geed § STafed &l
Tt feu v faeedl § @ W@ I H1 =TI
Hif
[A] et
[B] ad II
[C] 1T I §Hi
[D] A IR TE I
6. G20 ¥ ded #, FrafaRaa wedl § &
HH-T1/H FE 27
1. 1femmr, 2022 1 WRd 7 AT
¥ 3okl 37eAeTar ITH i et

Il G20 % YgeT et @xed 2008 §
SIf¥mTed § T g3AT o

= feu 7w foyereal # @ TEt I I =4

Hifera -

[A] aeT I

[B] e II

\[C] 1TE I gHi

[D] AWM IR IS I

7. VR AU S HH-T1 TTTSE, TAH
arTies Gfgar (UCC) shi STd o 8 ?
[A] 3T=6T 43
+[B] 3ge0T 44
[C] 3T=T 45
[D] 38T 46

8. 2023 H, TYH UsT IWH & 5 U=
4 71 € § WA el § duraed & R
TR T Eor <hI off ? T

<[A] @9 GSiferg
[B] SieA
[C] &t
[D] =paih

[P.T.O.
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9. Which of the following pairs is
correctly matched?

Name of Padma
Shri Recipients
[A] Shri Anand Kumar—
Science and Engineering
[B] Shri Moolchand Lodha —
Literature and Education
[C] Shri Janum Singh Soy —
Public Affairs
[D] Shri P. Kalyansundaram —
Social Work

Area of
Award

10. In which of the fo

the wgrld’s largest railway platform
been Inaugurated?

[A] Karnataka ,
[B] Madhya Pradesh
[C] Rajasthan

[D] Delhi

llowing States has

www.|harkhandgyan.

Who was the Chief Guest for the
Republic Day in 20237

[A] President of Afghanistan
[B] President of Egypt

[C] President of UAE

[D] President of Indonesia

11.

12. The Indian Government has

launched a rescue operation in
Sudan to evacuate its stranded
citizens. This operation is known as

[A] Operation Devi Shakti
[B] Operation Ganga
[C] Operation Addis Ababa
[D] Operation Kaveri

13. Which architect has designed the
new building of the Indian
Parliament?

[A] Ravi Modi

[B] Bimal Roy

[C] Bimal Patel

[D] D. Radhakrishnan -

9. frafufea gui # & S-w w@ goftw

27 |

TgRsR WTHAl R T 8

[A] #t =< TR —

fawm 7 sftmifeh

[B] *#i qeta= wier — @rfeed qa fan

[C] *ft Sn fée W—ardstes ame

[D] #t Fo Femrgem — gy w1

10. fr=fafiaa @ @ fre wa ¥ fvg & @l
T3 I <HH I IUTeH R T R7
\[A] HATH

- E8E (B] 78 WeW

&l [C] e

(D] feeet

f= 8 & =, wra % s feag 2023

4 g arfafyr 97 o

[A] FETFET & Tsgafy

[B] e & g

[C] ¥ 3R 3nfia 3 Ty

[D] FEHRTT % wegafe

HeH H Bl T WA AR 3 R

& IR FEHT I ST SRR & I

o T o) 3@ s am

[A] HATTEM T ol

[B] A9 7

[C] 3fTTEM anfeq amamen

[D] HATIH Hrad

Il G & 78 e i g areqen 3

fesmea fopam ane

INEERIE

\(B] femar T

[C] fome wemt

“Wrvqad0O

corhl-

12,

13.

3-B -

[D] o T
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15.

16.
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Which of the following statements
is/are true about Coalition for
Disaster Resilient Infrastructure
(CDRI)?

I. India is a member of CDRI.

1I. It is a UN agency.

ph

I1I. Its headquarters is located:in
Paris. A

b
IV. It was launched during G0
Summit, 2023. O

Select the correct answer from the
options given below :

[A] Only I www.jharkhandgys
[B] Only I and II

[C] Only I, IIl and IV

(D] 1, 1L, Il and IV

]

Agricultural drought is define

[A] uneven distribution of rainfall
over time and place

[B] low soil moisture

[C] inadequate rainfall of 30 percent
or more in cropped areas

[D] the lack of water supply in
water storage reservoir which
can be compensated by normal

rainfall

Indian National Centre for Ocean
Information Services is located in
which of the following cities?

[A]' Mumbai
[B] Delhi

[-C] Kolkata
[D] Hyderabad

www.jharkhandgyan.com

14. T=ifwa § 9 anver e ghed @@

% 00 Tesv (CDRY) & aR & -4
FU T /a7

I. ¥Rd CDRI %I & gl
II. I8 T UN T 2|
11, 391 JEITeg Uie 4 sraferd 2

IV. 39! JE3TT G20 FMHe, 2023 ¥
T
T few v foemedt § @ | IW B TH
Hifer - - |

hn.comlAl FT1

[B] et I 3R 11
[C] e 1, 111 3T IV

[D] I, II, IIl 9T IV

15. i g@n % gfenfya fea s @

[A] GEETETY TE T % g | a6
&1 faum feawo

[B] = Her srgar

[C] 30 fcsra a1 35& rfres aaaty aul
51 B! &7 ° B

[D] Vi1 998 WeR H Jelgfd ¥ 3Tc(eeh
it g1 o8 wm At | g foen
ST Geh

16. F=fcRaa § & form wet o R U

TR A1 He1 s e 27
‘[A] g

" [B] feeett

(C] P

D] &

[P.T.O.
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17. Which of the following statements
are correct regarding Yaya Tso
Lake?

. It is located in Ladakh.

1I. It is Ladakh’s first heritage site
under the Biological Diversity
Act.

III. It is also known as bird’s
paradise. |

IV. It is fed by Sutlej river.

Select the correct answer from the
options given below :

[A] T and II only

[B] I, IT and IV only
[C] I, II and III only
[D] L, II, IIl and IV

www.jharkhandgy
18. The Lakdawala Committee (1993)

is related to

[A] income inequality

[B] poverty estimation

[C] inter-State relation

[D] biodiversity conservation

19. The Universal Declaration of

. Human Rights, adopted by UN

General Assembly, does not include
which of the following?

[A] Dignity, Liberty and Equality
[B] Right to Life

[C] Freedom of Adequate Standard
of Living
[D] Right to Universal Basic Income

considered a subsidy box for
agriculture in WTO?

[A] Green box subsidy
[B] Amber box subsidy
[C] Red box subsidy

[D] White box subsidy

17. o @ e & ged § Fe A @ wi-3
. AT R A
I 9% oie@ 1 R gl

1. I8 S fafdua sfifm & 7&d e
1 9o foEd @ 21

t
O . o it 1w of e S R
N IV, I8 gdert 76t @ g fafm 21
2 9 feu o foeedi § @ WE IW WA
v ?ﬁﬁm:

V[A] HIE 1T I
_—_— [B] e 1, I Td 3R IV

f@ [C] %ee I, 1 TF 11
D] 1, II, Il W& IV

an.com 3
18, ST dhifd (1993) Taftd &

[A] 3 fawmar @
yB] Tt 3o &
[C] i~y Ty &
[D] Safafaerar sweo o

19. HYT TP HEMEHT g 0ATE T HFE
atferenml <6l wreifies wwon o frefefied
A ¥ -7 e T 27
~[A] M, W= T8 GHET
[IB]GﬁEF{Wa':IﬁJWIT
[C] I9Th SiiaA ATH TR i T
V[D] HEHifieR UG 37 1 AR

20. WTO 3 37, Fifend 5 & HH-91 FIeH
e % T 1 TR Tl TeRaT STt &7

[A] U STeE TIEH

[B] TSR Sle¥ M

[C] e i I
* [D] T ST AT
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21. Which of the following statements
is/are true for alluvial soil?

I. Its sand content decreases
from west to east.

II. They are in the form of
Bhangar and Khadar.

III. This soil covers about 40 percent
of the total area of the country.

IV. This soil is rich in potash and
poor in phosphorus.

Select the correct answer from the
options given below :

[A] I only

[B] I and II only

[C] 1, II and III only
[D] L I, 1Il and IV

22. PM KUSUM Scheme is related to
[A] agricultural solar pump system
[B] electrical vehicle subsidy
[C] semi-conductor sector

[D] fertilizer sector

23. Labour force participation rate is
defined as the

[A] ratio of unemployed population
to work force

[B] ratio of employed and willing to
work to working age population

[C] ratio  of employed to
unemployed population

[D] ratio of work force to
age po
disguise

: working
pulation €xcluding
d unemployment

24, World Social Security Report is
released by which of the following?
[A] World Bank

[B] UN Women Commission
[C] ILO

3"'B-

firdt ’
21. gﬂi’fm/a$mg@%/%- t@ﬁaaﬁ(
1. gai @ 1A
gt 2| c oy 2
. # gd
0 3o e SR = gfererd
1 I1I. ﬁwﬁ*wmﬂm
4 feen 2 :
. Iv.wﬁ?ﬁmﬁmmﬁ
¥ e 1 T A 8l
13 fog 7 ot # & W@ I AT T
S
[A] Fa@ ]
[B] *ael [ Td 11

J[C] ael I, 11 T 1II

EZEI; [D] I, II, Il W& IV

e’y fien $gu I Feta @
'[A] PN G U9 sEERn @
(B] forga are argem &
[C] ot Freax &3 J

[D] 3 &7 @

TR HeTT &t e w9 5 wienf

fora s 27

[A] SUTTR SEEn % i w5
SREIG]

[B] Feifve w fiem % geg @
HTHA 31y e 3 i s

(C] TR e S 6 s 1 s

[D] =87 90T A Brew, smwfs
T RS 3 < e s

Fow arfvn e e, Frerifen &

foperes gm sl < e 27

[A] fove &%

[B] UN wféen smi

[Cl Lo

23.

24,

* [D] UNqﬁaﬁm'm

www.jharkhandgyah.com
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25. fr & - T, TR I F A

: i ts
25. Which of the following statements . ;
are correct regarding Kharai # wd 39 | ]
camels? I%Wﬁmqﬁmgﬁma
I. It is a rare camel breed found 3
in Ladakh. ST @ TR
II. Their name is derived from jche [[. 3T 9H T %ﬁma”
local word ‘Khara’ meaning 319} quhA B ‘%,@{ CRERd
seline: ; | 11, St SRR o TEe o fort 3 H
III. They swim long distance in sea T @ % A B
to reach their grazing areas. 3 =
IV. They were anciently used in Iv. SllEili.lﬂTl'ﬂ ERial SEATCT e
= the ‘Silk Route’ areas. SER: @?ﬁ g1
¢ Select the correct answer from the H= feu ¢ foeredi # | Tl ST A T
~ options given below : i :
E [g] I and III only (A] e II{EE.III
& [B] II and Il only B] et 11T 1T
[C] T and IV only ] 3 L IV
D] 1, I, M.and Iv | (D] 1, 11, I T IV
26. Which of the following statements 26. T 10T ¥ ged d ﬁtrf"&ﬁ‘\@ﬁ il
::Séé?fli‘:ie;tt);rect regarding Gini aﬁq—m/ﬁ wﬂﬁ 'FIE"‘ z%? )
A 3TYHMEAT
I. It measures the level of income L & Sl i
inequality in the society. I =1l @ .
I Higher the Gini coefficient, 1. Tl 1oreR e Sferes g, SrEETT
% lower the inequality. I T B
ERE 1. It can be derived using the 111 %aﬁq%%mﬂwm
Lorenz curve. | 3
Select the correct answer from the _
options given below : fr=r e oy forpedi # @ W@ ST BT
[A] Tonly  \www.jharkhandgyan.com ¥
[B] I and III only [A] e 1 _
[C] I and II only [B] THad 1T 111
g Hae 1T
(D] II and III only €] 199 I
[D] hae 11 Td III
27. Where is Dibru Saikhowa e : o )
. Biosphere Reserve located? 27. %ﬁ\ S 39%315‘ I,ﬁﬂﬁﬁ%’[f@m%,
" [A] Arunachal Pradesh Al SRR |
[B] Assam {B] 3&H |
[C] Manipur [C] HoTg
[D] Sikkim | | .;3?} s
28. Earth Overshoot Day is related to 28. HAITE e ﬁEliiiilfl
[A] environmental degradation (A] TRTERUT &R ‘
i (B] RN 1 AT TH B 8
[B] overheating of troposphere 3
[C] melting of glacier due to (C] it 1 Fresitoreh g fope frerer
intense sun rays 3}
[D] geomagnetism [D] Y- @f
3—B | l‘ . 8
: www.jharkhandgyan.com
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29.

1164538

(]

“«p w4731

i

32.

3-B

0. In which district of Jharkhand is

"[C] Jamtara

31.

www.jharkhand

At which of the following Indus
Valley sites was a terracotta replica
relating to exploration of a plough
discovered? '

[A] Dholavira

[B] Kalibangan

[C] Rakhigarhi

[D] Banawali

www.jharkhandgy
the neolithic archaeological site
Barudih located?

[A] Hazaribagh

[B] Simdega

[D] None of the above

Which one of the following
administrative structures in
ascending order is correct?

[A] Dronamukha, Sthaniya,
Samgrahana, Karvatika

[B] Sthaniya, Karvatika,
Dronamukha, Samgarhana

[C] Sthaniya, Dronamukha,
Karvatika, Samgarhana

[D] Sthaniya, Dronamukha,
Samgarhana, Karvatika

Prabhavati Gupta was the ruler of
[A] Gupta Dynasty

[B] Sunga Dynasty

[C] Vakataka Dynasty

[D] Maukhari Dynasty

gyan.com

29. frafafad § @ feg fory aidt wa &,
T o1 Wi Hafrd euehier i wfdepidl el ?

[A] dieTE
« [B] SIS
[C] TETE!

[D] SHTEAT
AN.CoOM

30. TEUTIOTE TR SEElR, SREUS < fhd
e A fRud g7

[A] ST
[B] famem
[C] STHdTST

«[D] 394 H ¥ HIE TE

31, Frefefad & @ SH-dt yerEtie G,
JTTE 30 H WA 87

[A] TTE, THE, HUEY, FR-aTeeE
[B] T, -1, F0RE, U
[C] i, Srv@, F-anfeewt, dug
[D] T, SrorE, Tugel, H-areeh

32. gwrad W wmifden oft
. [A] TR WS
RN

[C] aThTesh 991 Y

www.jharkhandgyan9com

[D] HieEdt = i

[P.T.O.
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33. The Sangam text Tolkappiyam is a

work on

[A]‘ astronomy
[B] grammar
[C] music

[Dj medicine

www.jharkhandgyan.com
34. Who was responsible for the smooth

functioning of the Mughal

Mansabdari system?

[A] Vakil 2

[B] Wazir 7

[C] Mir Bakshi )
O

[D] Sadr O

35. During the Mughal period, the
- coins minted during the previous
reign were called

[A] Khajana
[B] Chalni
[C] Mohur
i
[D] Bikha =

36. The capital of Vijaynagar Empire
. was situated on the bank of which
river?
[A] Tungabhadra
[B] Narmada
[C] Godavari

[D] Bhima

3-B www.jha'rkhandgyan.c'om 10

35-.5“?”51?"%5%, I ECA Gl
SR eTel T et o1 gt ST o

J[A] TS
[B] =Tt

[C] I=X
[D] feman

36. oo sy 6 TSurEh fRg Td %
e o R eft?

[A]- gt
\[B] THa
[C] Terd
[D] ¥
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37. Which of the following is not
correctly matched?
Building Builder

[A] Lal Mahal — Balban

[B] Hindola Mahal— Hoshang
Shah

[C] Jahaz Mahal — Ghiyasuddin
Khilji

-[D] Lal Darwaja — Bibi- Raje
Mosque

38. Who among the following is not a

painter of Jahangir’s period? 2
v
[A] Mansur q
FY
B] Manohar 4
[B] G
O

[C] Khwaja Abdus Samad
~ [D] Abul Hasan

Which Congress Session passed
the resolution of Fundamental

Rights in 19317

39.

[A] Allahabad

[B] Karachi

O] 3
[C] Mumbai El.llﬂ
[D] Gaya

www.jharkhandgyan.col

37. ﬁm%%aﬁﬁaﬁquﬁgﬁ%ﬁqﬁ%?

AT fmtorerat
[A] @ HEA  — S
[B] fésien #get — BWAT W@
[C] W& Weel — TATgEH Rgerl
[D] @9 g — St T
Tfeg

www.jharkhandgyan.com

38. e & 1 ehfi % g &1 fedr 78
87

[A] TH
[B] A
(C] ST 37 FHG
[D] 379 &E
39, 1031 % #, Fiw B Few s
Tifereh 3T o FEdT UIid g3 ?
JA] FETETETG
[B] H=h
[C] 7=

(D] ™1

N 40, f=feRaa # & frem wg1 o1 @aail wh

- i amon he e s | 4 e 1 e v @
always prevailed in India”? @ e
[A] John Shore [A] S IR
[B] Alexander Duff [B] IATIE TF
[C] Captain Reed .[C] W/ai‘z?ﬂ’é
[D] Thomas Munro [D] ) Eﬁﬁ
£ [PT.0.
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41. With which of the following

42,

43.

newspapers was Gandhiji not
associated?

[A] Young India
[B] Indian Mirror
[C] Harijan

[D] Indian Opinion

The Treaty of Amirtsar was

concluded between Maharaja Ranjit
Singh and

[A] Lord Cornwallis
[B] Lord Dalhousie
[C] Lord Hastings
[D] Lord Minto

Which of the following books has
not been written by Dr. Ambedkar?
[A] Thoughts on Pakistan
[B] Annihilation of Caste

[C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India

www.jharkhandgyan.com

44,

3-B

Consider the following statements :

I. The latitudinal and longitudinal
extent of mainland India is
around 30°,

II. From Gujarat to Arunachal
Pradesh, there is a time lag of
two and half hours.

The 82°30’E is the Standard
Meridian of India.

I1I.

IV. Time along the Standard
Meridian is taken as the

standard time for India.

Select the correct answer from the -

options given below :

[A] I-True, II-False, IlI-False, IV-True
[B] I-True, lI-False, III-True, IV-True
[C] I-True, II-True, II-True, IV-False
[D] I-False, II-True, IIl-False, IV-True

Www.jharkhandgyaq.2

41.

42.

94y v q 307

43.

EIFE

44,

com

fe 3 fore gUER W © HETe i
T T8 o7
[A] Young India
[B] Indian Mirror
[C] Harijan
* [D] Indian Opinion
IaH 1 G wEren Wi fifg sk
% o9 g gl
[A] € HHaTeH
+[B] ®E SeiEish
[C] =TE afecw
[D] @Te fyuey

Tr=ferfias o & - e <, 3w
a0 e forh S 2 e

[A] Thoughts on Pakistan

[B] Annihilation of Caste

*[C] The Problem of Rupee : Its Origin
and Its Solution '

[D] Servants of India

Trefafed ot w fomm =
. YEaqh IR o et sit Suiaty
foram @ 300 R)
I TSRId | 3RE0T=el e W S g
HUS I 3eR )
M. 82°30" Yo A =1 W L3Ta Tl
2|
IV. W ST TET & T ) 9RE
e 7% Twg T S 2
et feu mu forepedi d & ot 3o o =
Hifeu -
[A] -9, [-379, [11-379, V-9
[B] 194, I-3194, (-8, V-9
[C] 19, 1I-94, (-9, V-39
[D] I-319d, 11-99, -39, V-8
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45. Which of the following statements
are true?

I. The Tropic of Cancer divides
India into two halves.

II. The Tropic of Cancer divides
Indian International boundary
into two halves.

 qII. Maximum East-West expansion
of India lies along the Tropic of
Cancer.

IV. Line joining the easternmost
and westernmost points of
India lies to the north of the
Tropic of Cancer. :

Select the correct answer from the
options given below :

(A] Tand I
(B] I and IV

[C] 1T and III EL
(D] I and IV I

www.jharkhandgyan.com

46. Which of the following Indian States
shares its boundary with Bangladesh:

and Myanmar? q
[A] Nagaland :
_ [B] Tripura E
[C] Mizoram
~ [D] Manipur
h, Western

A7, From north to sout
" Ghats are locally known as

[A] Sahyadri—Nilgiri—Anaimalai—
Cardamom Hills

[B] Sahyadri-Anaimalai-Nilgiri-
Cardamom Hills

“* [C] Nilgiri-Sahyadri-Cardamom
Hills-Anaimalai -

[D] Sahyad.ri—Nilgiri—Cardamom

‘ Hills-Anaimalai
B ' ‘ 13

45. f= 4 O HH-9 HY T &7
[ e 1@T YR 1 8 Tl | "fear 21
[ e T ST h JT=Iss = Em T@nai
1 < feedi o wiean B
{11, 9T 1 qE-feem § Aferendn fawdm
F% @1 F qU-a1Y gl

v, s ¥ ged gl 3R wew ufve
ﬁgaﬁﬁaﬁgﬁm?rﬁi‘@aﬁ%%@%

IR ¥ fed 2
5 few U fepedt § 9 HEl ST H A

T :
[A] 13RI

«[B] I 3R IV
(C] 11 3R III
(D] 13RIV

46. ﬁm%%ﬁﬁﬁﬁq—mm,m
37 TR 3 @ T HE Rl 8 7

47. I et wfdt Tl 1 T Al
ST ST 8

(A] e AeAfiH-SmTes-FTSTH
feed

B] TR —sraTes— e - HIeaH
feed

| (c] Ferfrt-wefy-Fem feea-
STATIATS

[D] wEA-Hefr-Hrem feed-
. SFAHATS

[P.T.0.
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|

48.

49.

f the following TiVers does

o Arabian s€d

Which 0
not drain int

(A] Krishna

[B] Sabarmati

(C] Tapi

[D] Narmada

showers are common

Mango .
hich States of India?

phenomena inw

[A] Uttar pradesh and Madhya
Pradesh
[B] Madhya- Pradesh and Karnataka

[C] Uttar Pradesh and Tamil Nadu

[D] Kerala and Karnataka

www.jharkhandgyan.com

50.

3-B

Which of the following statements
are true?

I. Bajra is sown in hot and dry
climatic conditions of western
and central parts of India.

II. It is a hardy crop which can
resist frequent dry spells.

I11. Being a rainfed crop, the yield
of this crop is low in Rajasthan.

IV. Rajasthan leads in its

production.

Choose the correct answer from
the options given below :

[A] Tand II
[3] Il and III
[C] I and IV

(D] 1 and IV

Okd0)
EEm

“rv ¢ adO

| 49. Wﬁ,m%ﬁﬂn&‘ﬁﬁmm%?
\[A] e T T A T

(B] WA ST T FACH

(C] I 93 T AT

(D] e T FAICH

50. ﬁm%%ﬂﬁﬁﬁq—ﬁwmﬁ?

1.'w%qﬁ\arﬁaﬁtrrwwﬁésnﬁ
ﬁwm@mﬁﬁmﬁm
St 2l

I1. %wﬁnw%,a‘rw-aﬂ%
gp 2R & faue W B

111 S FE B9 3 SR, T |
wﬁmmm%

Iv. mﬂsﬁmﬁqﬁm%\-
frferReaa fereedt § & W I I
(A] 13RI
(B] 11 3R III

[C] I 3 IV

[D]IaﬁTIV.
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51.

52.

53,

www.jharkhandgyan.com

The dryland farming in India is
largely confined to the regions
having annual rainfall of

[A] less than 25 cm

[B] less than 50 cm

[C] less than 75cm

[D] less than 100 cm

As per 2011 Census, inter-state

female migration by place of last -

residence in India followed the
sequence of

[A] Rural to Urban-Urban to Rural-
Urban to Urban—-Rural to Rural

[B] Urban to Rural-Urban to Urban-
Rural to Urban-Rural to Rural

[C] Rural to Rural-Rural to Urban-
Urban to Rural-Urban to Urban

[D] Urban to Urban-Rural to Urban-
Rural to Rural-Urban to Rural

www.jharkhandgyan.com

On the basis of population size,
which of the following is the
increasing order of urban
agglomerations?

[A] Chennai-Bengaluru-
Ahmedabad-Hyderabad

[B] Bengaluru-Hyderabad-.
Ahmedabad-Chennai

[C] Ahmedabad-Hyderabad-
Bengaluru-Chennai

[D] Hyderabad-Chennai-Bengaluru-
' Ahmedabad

Www.jharkhanchgyan.com

S51.

52.

228
8

53.

“rv4¢aJd

TRd 4 Ik g0 f @di 39w 9%
Hifia 8, ST&l arfve aui

[A] 25 9.9 FA A
[B] 50 ¥.H. & 4 &

(c] 75 8.4 9 %9 &

~[D] 100 &H. & FA B

2011 FHTUMT e IFER, YRd H Afgensi
T AU Yo", ATE AEEE I
¥ oEr = H 2

[A] Tife § EL-ITET § TiE-WE H wAE-
i & T

. [B] Y& & TSI & V@I H wa-

LIEERIE]

[C] T & T § I | Ta-
TR H IR

[D] T & e & wEg & Tt
IR H T

SFEET ATHR & YR | = § 3
H-T1 gl TFeH H1 AL HH 27

[A] S-S Te - STETETaTe-2aUaTe
[B] TTE-ReSTC— a7
[C] ITEATISTE-ReuTeTeSE—aas |
(D] %mﬁ—%ﬁé—é"@am

[P.T.O.
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54. The
CommiSsi¥
was inspire
following cou

igsion in In
ntries?

[A] Ireland

ted Kingdom (U.K.)

[B] Uni
States of America (U.S.A)

[C] United
[D] .None of the above

55. Under which Article of the Indian
Constitution, can the Rajya Sabha
authorize the Parliament to legislate
on a State subject by 2/3rd majority?

[A] Article 249
[B] Article 243
[C] Article 259

[D] Article 250

www.jharkhandgyan.com

56. Which Article of the Indian
Constitution says that Directive
Principles of State Policy are not
enforceable by any court?

[A] Article 39
[B] Article 38
[C] Article 36
[D] Article 37

57. Under which Amendment Act was
the reservation in promotion for the
Scheduled Castes and Scheduled
Tribes ensured by inserting Clause
‘4A’ in Article 16?

[A] 75th Amendment Act, 1994
- [B] 76th Amendment Act, 1994
[C] 77th Amendment Act, 1995

[D] 108th Amendment Act, 2008
3-B |

55.

56.

(A] 31]‘?1'(%”3
[B}w@zwwm =
J[c] FgF T I (U5
,mm@amasﬁmﬂi@?wz
m,éﬂaﬁwﬁ@ﬁ {[5H
et o 0 @ B T ST
T Hehdl 8 7
[A] 3;[3{'%@?{249
.[B] =T 243 |
&5y
(C] =T 259 %ﬁi
[D] =G 250
e ifereT % e e B 9 St
2 5 T % Fifa Féwes a1 e ot
TTE g0 AN A& feRAT ST HeRdl 87
JA] FTT 39 +
[B] ¥Fg=ag 38 M
[C] 37T=3% 36 b
[D] 31g=a% 37 E]
57. ferm weiaa arfufrem & siaia, sgese
165 4A gt srggfaa st sk srgefom
STl % forg werafa & ameor gifzea
fera T ?

[A] 7591 @eneq srfufyem, 1994

[B] 76df wane arfufem, 1994
*[C] 779 Tt wfafrm, 1995

[D] 108di mem srfufrm, 2008
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58. which of the following statements
are true about Telecom Regulatory
~ Authority of India (TRAI)?

1. It was first established in 1997.
[I. It is a statutory body.

It was established to regulate
telecom services, including
fixation /revising tariffs.

I11.

Its headquarters is located in
Mumbai.

IV.

S.elect the correct answer :
[A] Only I, Il and IV

[B] Only I, IT and III

[C] Only II and III

%%lﬂ'
B

[D] All of the above

www.jharkhandgyan.com
Which of the following Committees

were appointed to inquire into the
working of Panchayati Raj

Institution in India?
. L. M. Singhvi Committee

59.

II. G. V. K. Rao Committee

[II. Ashok Mehta Committee

[V. Balwant Rai Mehta Committee

Select the correct answer :
[A] Only I, II and III

[B] Only III and IV

[C] Only II, III and IV

[D] All of the above

Which date is observed as the Good
Governance Day in India?

[A] 14th November

60-

[B] 25th December
[C] 2nd October

D] 1st May

ki 17

5g. frmfIian & SH-H M, WRd g
WW(TRAI]%aﬁﬁgﬁﬁ?
[ IE @EvAT 1997 § Rfid gan o
[1. T8 U QT e 2|
(11, gEeh! T gt i /gene wfea
gar Fanell H1 falafia w0 %
forq <1 7S |
v, 3E qEIed g8 § o 7
it IR I I DI :
s [A] Fae 1, 11 3R IV
(B) e I, 11 37 11
[C] aet 11 AR I

(D] 3 @l

F& T B TIA HINT :
[A] ae 1, 11 3R 111
[B] et I 31K IV
(C] e 11, I 3R IV
«[D] 3 @l
60. e # fopm fofdy =) g fme < &9

¥ T STl B 7

[A] 14 TaT

[B] 25 fewmR

[C] 2 3
. [D] 193

[P.T.O.
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61. Which among the following is not

true about the Comptroller and
Auditor General of India?

I. The administrative expenses of
his office are subject to vote of
Parliament.

II. He is not eligible for further
office under the Government of
India or of any State after he
quits office.

IIl. The CAG can be removed from
office on the ground of proven
incapacity or misbehaviour
after an address by both the
houses of Parliament.

Select the correct answer :
[A] Only I

[B] Only II and III

[C] Only II

[D] Only I and III

www.jharkhandgyan.com

62,

3-B

Reasonable restrictions on
‘Exercise of Freedom of Speech and
Expression’ under Article 19(2) are
justified in the interest of which of
the following conditions?

I. Security of State
II. Defamation
III. Sedition
IV. Public order
Select the correct answer :
[A] Only I and II
[B] Only II and III

[C] Only I, Il and IV
[D] All of the above

61.

k

363

Frafrfia # & wE-A/A R o
e e IR A TR/

| 76 e % YT T
T % A gl

[l 37 T & Blgd & ¢ 98 9
TR A1 TS 3 3T 3 IS 0T
T % A T Rl

1[I §9¢ % a1 ¥l § Jemar A
e Hifed B % IFUN T A
R T mERrE-aiaes S 36
U2 ¥ I S Hehal 2l

H@Wﬁﬂﬂqzﬁm:

&E [A] a1

EI[B] el 11 371 11

[C] aa 11
+[D] %ad 1 3N 111

62. IITVT 19(2) F IHawa, W 3k

«}v{‘tlm

www.jharkhandgyan.tbm

Sweafa 1 w35 i e
iagy, Frafafad § 4 fag oifRafy 3
Sfad ST < e 29

L UST & geam

1. ey

1. TS5

IV. S sgae
& IW H T A -
[A] ¥ 13t

[B] %ad 11 3R 111
'[C] *a= I, 11 3t 1v
(D] S wh
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i

hich Committee’ 1l
63 w €e€’s report paved . o &’T.;n
the way for the Panchayats b mgﬁﬁ%@zqwﬁwﬁ
(Extension to Scheduled Areas) Act &Y 91 @i % fe syrfeardt & -3
(PJ?S?) 1996 Igorlensuring tribal self- gfAfTee e ged o u=rEd (srEfd
rule for people living in S “ _ s :
Areas of India? N cheduled &1 e ferer) sfufzm (PESA) 1996,
¥ foru et were TRAT?
[A] Ashok Mehta Committee :
A] i el At
[B] G. V. K. Rao Committee 2
[C] Bhuria Committee | [B] wflo =ffo o T ‘
[D] Balwant Rai Mehta Committee (C] e
(D] e T HEdl Hfifd
g4, Which area was given the : : -
maximum emphasis in the Second 64. fﬁ?ﬁadﬁ'ﬂ'ﬂzﬁﬁmﬁ, ferg & o T
Five-Year Plan? iR T Foat T 2017
[A] Agricultural sector
(A PR EE
[B] Transport sector .
, . __[B] i@ &F
[C] Industrial sector
. SEM L (C] I &
[D] Poverty alleviation
[D] el 3¥CT

Which Index is considered as the WWW.jhark[land yan.com
65. i a1 T o STer i UM

basis for estimation of poverty in
urban areas? W & gHET ST 87

i Index of ~ :
[A] Consumer  Price Inde [A] P AfEER] BT ST ToT GBI

Agricultural Labours
[B] Wholesale Price Index (B] &1 Ho G

65,

[C] Stock Index [F‘_]] (C] WW
: ; \ ~ N :
D] &%zz?rﬁfaoi;;z (é’;?_‘;‘\’;} of - D] Sieliien 2iftpi b1 IR Ted G
A
6. hndia is the largest producer as v 66. WA, = & @ form P ey g8l
Well as the largest consumer a:nd 3cdIg, ?aaﬁmmwmﬂwaﬁt
importer of which of the following AT & 7
Crops? . (A] T www.jharkhandgyan.com
[A] Wheat
B] Cotton oL
[C] Pulses | (C] eTe
iy ID] Sugarcane [D] =
- 19 - [P.T.O.

h
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67.

68.

69.

70.

3-B -

Which of the following is not a cash

crop? L
www.jharkhandgyan.

[A] Jute

(B] Millet

[C] Sugarcan€

[D] Peanut

Which indices are the basis for

67. ﬁmﬁ@ﬁ?—m,quﬁ%e

(A]

- [B] TR

com

(C] T

{D] el

68. mﬁmﬁﬁﬁﬂﬁw%@,mwﬁé

determining sustainable SR AT Sl 27
development?
(A] Tfefefeeh!
[A] Ecology
FrTe N TEpldh

[B] Social and cultural [B]
[C] Economic [C] ST
[D] All of the above (e »[D] 3‘@* Tt

T

[EETE

In which year was Sustainable

69. Sgre & Had foehE geed o

Development Conference held in TS g1 o1 ?
Johannesburg? ‘
(A] 1997 JAL 1597
. r 3
. . [B] 2002
‘ .
[C] 2003 R [C] 2003
2
' Ll
(D] 2004 0 [D]-2004

www.jharkhandgyan.com

What is sustainable development?

[A] Economic development

[B] Environmental development

[C] Social development

[D] All of the above

70. Taq feaewm #0187
. [A] afien fersprer
(B] Tt faem
[C] TR T
[D] 39 &

20
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When did the term ‘g
i e, did € ustainab]
C . - e
De p ome intg €xistence?

[A] 1980
(B 1987
[C] 1992

[D] 1998

n. When was the process of economic
reforms started in India?

(A] 1990
(B] 1991
[C] 1993

D] 1994

Match List—I with List—II and

13.
select the correct answer using the
code given below :
List—I List—II

) Price discrimination (i) Ragnar Nurkse

b Land reform (i) Bretton Woods

) Vicious circle of (i) Land monopoly
poverty '

1.B.R. D. (i) Land
b 4 c;?solidation (d) 3o o 3o o (iv) sfy Fepeal
Code : he :
@ () (9 (@ @ (b) (o) (d)
W G G @ (Al (i) () @) ()
[B] G @ . () (i) [B] i () (v) (i)
O @ g @ Cl @) @ 6 @
\ 0 fiy @iy (i) ‘ "Rl f )
21 [P.T.O.
¢ ‘ ,

Wy v g A~O0

71. mm’wwﬁaﬁmm?
[A] 1980
[B] 1987
_[C] 1992

[D] 1998

wﬁmﬁ%gwﬁmﬁﬁﬁ
7

72.

.[A] 1990
[B] 1991

[C] 1993

E4E
ﬁ JD] 1994

www.jharkhandgyan.cQ
73. qEA—1 1 R & G = A

ﬁng@ﬁ@ﬂ@ﬁwwaﬁ:
gei—I ge—II

o) 79 T (i) TR A

(b) ¥fir GHT (i) et g8

() T I gEEE (i) Yy TR
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74.

75.

76.

77.

78.

www.jharkhandgyan.com

. v

compressions of a sound wave?
[A] Wave number

[B] Frequency

1C] Wavelength

[D] Amplitude

Which of the following is a cause
of echo?

[A] Absorption of sound
[B] Transmission of sound
[C] Reflection of sound

[D] Refraction of sound

CiC> b - € »

Light year is a unit of
[A] distance

[B] time

'[C] eénergy E%
[D] intensity of light E%"
Which of the followin
in vacuum?

[A] Light

[B] Heat

[C] Sound

g cannot trave]

[D] Electromagnetic waves

The procéss of su

Perposition of any
information on

radiowaveg is
[A] transmission

[B] modulation

[C] demodulatipn

[D] reception

22
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74, s Gl % O FAIT UG % =

oft @ w0 FRd 87
(A] 99 T

(B] g

[C] TUTeEA

[D] JAEH

75. T @ 9 vfawf w1 s = 22

[A] & &1 Tam
[B] &@af &1 qrome
*[C] @& =T WEde

[D] & 1 sada
www.jharkhandgyan.com

76. T IY 3HTS B
(A] &t =
[B] Ty &
[C] 3 &
(D] 5191 <t frgra o5

77. ﬁwﬁ%ﬁq,ﬁahﬁmqﬁ
[A] Sehrr
*[B] Fuq
[C] e&fy

D] T ey iy

L Hehy 27
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ngora wool is extract
iF 1 ed f o g lls
sich of the following anima1gr;m no. Ty @ frm A H mwmﬁaﬁﬁ
[AI Sheep L
(Bl Goat LSS
(c) Rabbit (B} ¥
D} Fox bl

(D] @El
t ich of the following is not tru -
sbout RAM? ° | so RAMa;aﬁﬁﬁmﬁﬁfm—mﬂﬁ*ﬁ%’
A RAM is a temporary storage area [A] RAMT® el ST gt
8l RAM is like a hard disc storage (B] RAM TF hard disc Storag® *
f;;iC] RAM is volatile memory el
: e [C] RAMT® oy HHTQ E
D] Information stored in RAM is
gone when the computer is (D] RAM H wuslid %Lamﬁ, HE *®
it 7 T 38 T ®

turned off

41 Using websites 10 pour out one’s
\;  grievances 18 called ) : A

|A] Web plea

1R] !
ll“ Bl
1

C Cyber ranting

o

D] Cyber venting

Which part of Central Procems
(CPU) performs. calculatiops -

decisions?
}i terr ate mq'_u?}t .5 ;

3 §
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4
Angora wool jg

19, DI ext
" which of the following LU fTom | g 38 i s 7T
[A] Sheep 27 o
[B] Goat ¢ [A] WS
(C] Rabbit [B] ==
[D] Fox (C] wwr
www.jharkhandgyan.com [D] et
) zvblgﬁ? R(flvtI};e ollowing Is not true 80. RAM ¥ an ¥ ey § & HH-81 T 8 7
[A] RAM is a temporary storage a.rea- [A] RAM T& &R HUSRY el
[B] RAM is like a hard disc storage [B] RAM U& hard disc storage £l
TE B

,[C] RAM is volatile memory
(C] RAM & aroqefict HHI @

[D] Information stored in RAM is

gone when the computer is [D] RAM T qusrid ?ﬁqﬁ, A %
turned off 317 B 9T 3 ST 8

i1, Using websites to pour out one’s 81. Tpet & Frerdl & =76 HH % o

grievances is called Ygareel w1 i STl 3
[A] Web .plea 2 (A] 3w
[B] Web hate : (B] ¥4 3
[C] Cyber ranting [g (€] T T
[D] Cyber venting Ell:—jl (D] W re
2w &)
2| gxﬁltc?cg%r)t ;;;iﬁgai;gﬁio% 82. el WET g2 (CPU) &1 B -1 37T,
TUHT SHUAT B TUT IR <aT 2 7 |

and makes decisions?

(4] Alternate Local Unit [A] Alternate Local Unit

B) American Logic Unit [B] American Logic Unit
€] Alternating Logic Unit [C] Alternating Logic Unit

A D) Arithmetic Logic: Unit *[Pl Arithmetic Logic Unit
29 | [P.T.0.
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83. ICAR Day is celebrated on

[A] 23rd December
[B] 16th July
(C] 22nd April
(D] 23rd November

84. Global Gene Bank of rice is situated
at

[A] Philippines

[B] Pusa, New Delhi
[C] Cuttack

[D] Hyderabad

www.jharkhandgyan.com

85. Sugarcane is a
[A] short day plant
[B] long day plant
[C] day neutral plant

[D] photo insensitive plant

86. How many chromosomes are found
in the endosperm of maize?

[A] 20
[B] 30
[C] 40
[D] 23

87. Which of the following genomic
conditions is found in commercial

edible wheat?

[A] AB genome
[B] ABC genome
[C] ABCD genome
[D] ABD genome

3-B

«»~ <o

83, 3o Hlo To 3o TeaE el FTAN ST 3
(A] 23 feamr
(B] 16 I
(C] 22 3T

(D] 23 =K

84, =TEe I AT i ¥ R 8
(A] frefidfa
(B] @, 7 feeeft
[C] FeHH
[D] BTG H

85. T @
(A] S0 Sftrpre i W
(B] 31 iftrenret dien
‘[C] Jerfm Siftrpref dten
(D] €iftreret % Wi 3= dten

86. Tah % YUY F feha TURE T 1 &
(A] 20

[B] 30

=
e [C] 40

[D] 23
87. AEEIRG WM A g H, fr= A

HF-H Sfifies fRufy org st 27

(A] AB SfiHm

[B] ABC SfHm

[C] ABCD SfHm

[D] ABD SiHI9
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8 Alkaline soils can be improved
(Al by the use of lime

B] by the use of gypsum

C] by the use of saline water
[D] None of the above

Which of the fOllOW:i_ng.signiﬁeS the

f
Lota Pahar?

O~ » -~ 2w

[A] Centre of the Revolt of Tilka
Manjhi

B] Centre of the Stone Age of
primitive people

Ofe :
b’%e] A major centre of the 1857
' Sepoy Struggle

[D] A major centre of the Kol
Uprising

0. Which elephant of the Chhota
Nagpur Raj has been mentioned in
Jahangimama?

A] Moti Chandra
[B] Sharat Chandra |
(€] Nagpuri Pitho
D] Shyam Chandra
* Rohini’ one of the major centres of
whsizhug}'ismgs, is located today in
1strict?
A Goada
B) Jeiratage

lC] DQOEhar

l‘h lD] Dumka

\

1

88. &IOY Yl I U ST wHAT &
[A] =4 & WI0 g
[B] fSwm & wam g
[C] @R Tt 3 S g
[D] 39t | | 1 T8I
8o, famifera ¥ | wier weTg i &I Te=
ERIE
(A] T wish % fogiE 1 55
(B] SR A HMHAME! 1 5
(C] 1857 % foardt HuTH 1 TH TSI hws
[D] it forgig =1 521 %75
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90. RMIEMT # BITHIR TS % foha greft
T Iooi@ Toham T B2

(A] AR =
[B] @ I

[C] g Tt

[D] ¥m =5
(A] g
[B] Simwerer
[C] ST
+[D] g www:jharkhandgyan.com
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92.

93. In which town was the Rajkumari

94, By which term does the Hill Kharia

95. Who among the following was

96. ‘Thendiri’ and ‘Bidadigy

3-B

Who is the most important God of
the Santhal Tribe?

[A] Marang Buru
(B] Marang Manjhi
[C] Moreko Turiko
(D] Thakur Deo |

Leper Asylum, 1895 established?

[A] Deoghar

[B] Ranchi

[C] Daltonganj

[D] Hazaribagh
www.jharkhandgyan.com

community refer to a body bigger

than the Panchayat?

[A] Parha

[B] Chira

[C] Para

[D] Bara Jutan

considered as the head of the
village?

[A] Khuntkatti Raiyat
[B] Jeth Raiyat

[C] Asami

[D], Bhogta .

related to fituals are

[A] Santhal matrimony
[B] Oraon birth cefemény |
[C] Munda last rites

[D] Oraon last rites .

www.jharkhandgyan.com

«p» v e «dO

l
.
93, TEFH B A, 1895 ¥ I3

wﬁﬁmwm? ‘

[A] ST
(B] T
B E :
%%ﬁ +[C] STeET™
[D] EELEL

04. Tl WA, A | T T
=] el & ?

(A] TET
[B] =T
(C] T
[D] =1 JeM

95. Eﬁ%@aﬁ%ﬁq,nﬁ%mmﬁﬂ
?

(A] Gewdt Ta
*[B] 38 Y39
(C] sTmamh
[D] *rrar

96. MM & forafet e RS &
IA] e g |
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i 1 ear was Glrldlh 97. ﬁmaﬁm . .
s Wl?eiihwifh the railways? 4 Yo & S T A
' o€ _[A] 1871
g71
[A] : 5 [B] 1885
188
p 04 (C] 1904
D) 1915 [D] 1915
.o centre parasnath o \
famoui® P moed L ofwhich | Llos. ferg dhefeeret e, Freifenn 6 o
: oximity 9
i the €102 T 07 s i 27
It 2 f 4 f
of the following ¢ -
. N n
A] tori PoA
C] Madhuban -
[C
p] Kakolat [C] o harkhand
. an
_ S (D] eI gyan.com
. Which of the following pairs 1
correctly matched? - | -
5 pate ﬁgg i 3 @ F-E T wd ghfea
ay :»4 T qﬁ 3 5
4] World :
Environment foa@ fea
Day — Sth June a‘;\:{
— D
[B] World Earth . (A] o Frarator fead
Day __092nd April 5] q&_ﬁ a9 3
[C] World o
Homeopathy [C] favd Wﬁa’g — 12
Day —12th March 1
D] Internati .[D]mfgﬁ?whﬁaﬂ — 215
national .
Day of Yoga — 21st June |
0w | 100. 20231 frE T iy 3 AT BT
. \Zhlch of the following States has oy TfeRaT 27
Eun?}}eﬂ the scheme ‘Learn.an
am’ in 20237 [A] e SR
(4] Uttar |
Pradesh _
B g ger e Www.jharkhani
i | Madhya Pradesh (Bl - J dgyan.com
[C] Rajasthan [C] TSTEATH
] Haryana [D] gm

27
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